81 + — =

97 + — =
9

TN 112Y B 6008

1 2
87 + — = 40 + — =
2 6
1 3
79+—= 76+—=
6 9
1 5
61 + —= 53 + — =
2
42 + — = 73 + —=
9 8
2 4
17+—= 52+—=
6 7
1 3
3 5
90 + — = 73 + —=
3 3
39 + —= 10 + — =
5 6
3 1
36 + —= 18 + — =
4 3
5 1



TN 112Y B 6008

S 4
35 + —= 85 + —=
14 + —= 58 + — =
9
1 2
75+ —= 38 + —=
2 9
5 1
91 + — = 97 + — =
8 2
1 4
80 + —= 20 + — =
5
9
2 1
60 + —= 47 + — =
8 2
3 2
89 + —= 19 + — =
5 3
2 2
63 + —= 71 + — =
3 5
1 6

35 + —= 41 + — =
8 9



65 + — =

48 + — =
3

TN 112Y B 6008

4 1
73 + — = 64 + — =
6 2
3 4
68+—= 79+—=
4 5
3 2
34 + — = 66 + — =
4
1 4
40 + — = 28 + — =
9 6
2 4
22 + — = 92 + — =
3 5
2 1
90 + — = 41 + — =
8
3 7
42 + — = 54 + — =
2
61 + — = 57 + — =
4 4
4 1
5 2
1 2
14 + — = 31 + — =

74 + — =

24 + — =
2



